This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 1 - Linlithgow

7,245

3

1,812

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Tom CONN	Scottish Labour Party	1,060
Alan COOPER	UKIP	40
Sue FRIEL	Scottish National Party (SNP)	1,091
Tom KERR	Scottish Conservative and Unionist	3,037
Maire MCCORMACK	Scottish Green Party	476
Sally PATTLE	Scottish Liberal Democrats	381
David TAIT	Scottish National Party (SNP)	1,160
	Total	7,245

Candidate Tom KERR Elected with 3,037 votes, being in excess of the quota of 1,812

This report contains the transfers results.

Stage 2 - Surplus of Tom KERR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tom CONN	905	0.40335	365.03175
Transfer to Alan COOPER	182	0.40335	73.40970
Transfer to Sue FRIEL	88	0.40335	35.49480
Transfer to Tom KERR	0	0.00000	0.00000
Transfer to Maire MCCORMACK	147	0.40335	59.29245
Transfer to Sally PATTLE	772	0.40335	311.38620
Transfer to David TAIT	137	0.40335	55.25895
Value of non-transferable ballot papers			325.12615
	Total		1,225.00000

This report contains the transfers results.

Stage 3 - Exclusion of Alan COOPER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tom CONN	44	0.40335	17.74740
Transfer to Tom CONN	7	1.00000	7.00000
Transfer to Sue FRIEL	1	0.40335	0.40335
Transfer to Sue FRIEL	2	1.00000	2.00000
Transfer to Tom KERR	0	0.00000	0.00000
Transfer to Maire MCCORMACK	7	0.40335	2.82345
Transfer to Maire MCCORMACK	3	1.00000	3.00000
Transfer to Sally PATTLE	38	0.40335	15.32730
Transfer to Sally PATTLE	6	1.00000	6.00000
Transfer to David TAIT	1	0.40335	0.40335
Transfer to David TAIT	1	1.00000	1.00000
Value of non-transferable ballot papers			57.70485
	Total		113.40970

This report contains the transfers results.

Stage 4 - Exclusion of Maire MCCORMACK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tom CONN	16	0.40335	6.45360
Transfer to Tom CONN	102	1.00000	102.00000
Transfer to Alan COOPER	0	0.00000	0.00000
Transfer to Sue FRIEL	12	0.40335	4.84020
Transfer to Sue FRIEL	112	1.00000	112.00000
Transfer to Tom KERR	0	0.00000	0.00000
Transfer to Sally PATTLE	64	0.40335	25.81440
Transfer to Sally PATTLE	132	1.00000	132.00000
Transfer to David TAIT	10	0.40335	4.03350
Transfer to David TAIT	89	1.00000	89.00000
Value of non-transferable ballot papers			64.97420
	Total		541.11590

This report contains the transfers results.

Stage 5 - Exclusion of Sally PATTLE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tom CONN	376	0.40335	151.65960
Transfer to Tom CONN	246	1.00000	246.00000
Transfer to Alan COOPER	0	0.00000	0.00000
Transfer to Sue FRIEL	20	0.40335	8.06700
Transfer to Sue FRIEL	65	1.00000	65.00000
Transfer to Tom KERR	0	0.00000	0.00000
Transfer to Maire MCCORMACK	0	0.00000	0.00000
Transfer to David TAIT	33	0.40335	13.31055
Transfer to David TAIT	67	1.00000	67.00000
Value of non-transferable ballot papers			320.49075
	Total		871.52790

This report contains the transfers results.

Stage 6 - Surplus of Tom CONN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tom CONN	0	0.00000	0.00000
Transfer to Alan COOPER	0	0.00000	0.00000
Transfer to Sue FRIEL	110	0.02967	3.26370
Transfer to Sue FRIEL	257	0.07356	18.90492
Transfer to Tom KERR	0	0.00000	0.00000
Transfer to Maire MCCORMACK	0	0.00000	0.00000
Transfer to Sally PATTLE	0	0.00000	0.00000
Transfer to David TAIT	104	0.02967	3.08568
Transfer to David TAIT	164	0.07356	12.06384
Value of non-transferable ballot papers			106.57421
	Total		143.89235

This report contains the transfers results.

Stage 7 - Exclusion of Sue FRIEL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tom CONN	0	0.00000	0.00000
Transfer to Alan COOPER	0	0.00000	0.00000
Transfer to Tom KERR	0	0.00000	0.00000
Transfer to Maire MCCORMACK	0	0.00000	0.00000
Transfer to Sally PATTLE	0	0.00000	0.00000
Transfer to David TAIT	88	0.02967	2.61096
Transfer to David TAIT	178	0.07356	13.09368
Transfer to David TAIT	53	0.40335	21.37755
Transfer to David TAIT	1,087	1.00000	1,087.00000
Value of non-transferable ballot papers			216.89178
	Total		1,340.97397